Math 132 - Quiz 7 Name _key
October 12, 2022 Score

Show all work to receive full credit. Supply explanations when necessary. This quiz is due
October 17.

1. (3 points) Evaluate the indefinite integral: / V5 + 222 dx
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2. (2 points) Evaluate the indefinite integral: / \/Zd_xz

. -z
2

W= ‘-\'\L N (\ _\/:\ &

‘ - U =
du = - Ix dx 3 w
“M Ay -
5 du= % dx + C

Turn over.



| \
3. (3 points) Evaluate the indefinite integral: / V2zx — z2dzx 9 %%
(Hint: Complete the square.)
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4. (2 points) Evaluate the indefinite integral: / p f o dz
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